7 e [XFARDE L]

YR e >

ROz, xR+ D52 HHRNTEY,

(1) ax(=3)xb

(2) cxXaxb

3) axXaXa

(4) ax4xbxa

5) zXyxXyxazxl

6) xx0.1xy

(7) bx10xaxb

8) cxax(—=1)xbxc

(9) y x x x (=0.01)

(10) 3 x (a —b)

(11) zX3—=2Xy

(12) (x+y) x3 X (z+y)

(13) a+3

(19)

v+ (=2)
b+

2m = (—3)
TE24y+3
(z+y)+4
(a—0)+(=2)
3x Ty
0x3—b+2
2t a=(=5) < b

rX3+tyxax-+ (=7

T+ (y X z2)
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7 e [XFARDE L]

< JEE R > (14) x+(—2)
RORE, xR+ DB EEHRNTEY,

(1) ax(=3)xb :16—(-2):_§
ax(=3)xb=—3ab (15) 5
(2) cxXaxb 5+37:%
c X aXxXb=abc

(16) 2z + (—3)
3) axXaxa 2
axaxa=a 2x+(—3>:_?f

(4) ax4xbxa 17) z+2+y=+3
— A2 .
a x4 xbxa=4a*b x+2+y+3:%+%

5) zXyxXyxazxl 18) (z+4y) =4

TXyXyxazxl=aziy?

(z+y)+4="22

6) xx0.1xy 4
xx0.1xy=0.1xy (19) (a—b)%(—2)
8) cxax(=1)xbxc (20) Sx @y
cxax(—1)xbxc=—abc? 3X$+y:%
(9) y x x x (=0.01) (21) ax3—b+2

y x % (—0.01) = —0.01zy
(10) 3 x (a —b)
3% (a—0b)=3(a—>b)

ax3—b+2=3a—1
(22) 2+a-=+(=5)+b

(11) X3 —2xXy 2+a+ (=5 +b=—5;

TX3—2xXy=3r—2y (23) zx3+yxx+ (=7
(12) (z+y) x3x(z+y) TX3ryxxa (—T7) = -3
: : Ty

(x+y) x3x (z+y)=3(x+y)
13) a=3 (24) x+ (y X 2)

0+3=2 m%(yxz):%
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